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ÍÛæ̃ Û¶ÛÛ : (1) ›÷¾Û¨Ûà ¼ÛÛ›ä÷¶ÛÛ …×ïõ ¸ÛæÁõÛ •Ûä¨Û þùÉÛÛÙÈÛé ™öé. 
  (2) ÍÛÛþä×ù •Û¨Û¶ÛýÛ×ªÛ ÈÛÛ¸ÛÁõÈÛÛ¶Ûà ™æö¤ø ™öé. 
 

1. (a) …ÛÜ¬ÛÙïõ ¾ÛÛé¦éøÅÛÛé¶Ûä× ¾ÛÐü«ÈÛ ÉÛä× ™öé ? ©Ûé¾Û¶Ûà Áõ˜Û¶ÛÛ ïõˆ Áõà©Ûé ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 4 

                     …¬ÛÈÛÛ 

  ¸ÛéÁéõ¤øÛé¶ÛÛ ÈÛ’õ¶ÛÛ …¶ÈÛÛýÛÛé›÷¶Û¶Ûà Áõà©Û ÍÛ¾Û›ÛÈÛÛé. 

 (b) ¶Ûà˜Ûé¶ÛÛ …ÛÈÛïõ-Ü¶ÛµÛÛÙÁõ¨Û ¾ÛÛé¦éøÅÛ¶ÛÛé ŠïéõÅÛ ¾ÛéÇÈÛÛé : 6 

    Y = C + I + G [ÍÛ¾Û©ÛäÅÛÛ ÉÛÁõ©Û] 

    C = 50 + 0.5y [ÈÛ¸ÛÁõÛÉÛ ”Û˜ÛÙ ÜÈÛµÛéýÛ] 

    I = 10 + 0.2y [¾Ûæ¦øà ÁõÛéïõÛ¨Û ÜÈÛµÛéýÛ] 

    G = 30 [ÍÛÁõïõÛÁõ¶Ûä× ”Û˜ÛÙ] 

                          …¬ÛÈÛÛ 

  ¶Ûà˜Ûé¶ÛÛ ÍÛ¾ÛàïõÁõ¨ÛÛé¾ÛÛ×¬Ûà ¾ÛÛ×•Û …¶Ûé ¸ÛäÁõÈÛ¥øÛ¶ÛÛ ÍÛ¾ÛàïõÁõ¨ÛÛé ©ÛÛÁõÈÛÛé. ©Ûé ¸ÛÁõ¬Ûà Ýïõ¾Û©Û Ü¶ÛµÛÛÙÁõ¨Û 
¾ÛÛé¦éøÅÛ ÅÛ”ÛÛé …¶Ûé ©Ûé¶ÛÛé ŠïéõÅÛ ¾ÛéÇÈÛÛé : 

    Q + 4P – 30 = 0 ,  Q – 3P + 12 = 0 

 (c) ÅÛÛéÁéõ¶¡ö ÈÛ’õ ¸ÛÁõ ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 4 

…¬ÛÈÛÛ 

  Ýïõ¾Û©Û-Ü¶ÛµÛÛÙÁõ¨Û ¾ÛÛé¦éøÅÛ ÍÛ¾Û›ÛÈÛÛé …¶Ûé ©Ûé¶ÛÛé ŠïéõÅÛ ¾ÛéÇÈÛÛé. 

 

2. (a) ÍÛÛ¾ÛÜýÛïõ ËÛé¨Ûà …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûà Š¸ÛýÛÛéÜ•Û©ÛÛ ›÷¨ÛÛÈÛÛé. 4 

…¬ÛÈÛÛ 

  ÈÛÅÛ¨Û ÉÛÛéµÛÈÛÛ¶Ûà …ÛÅÛé”Û¶Ûà Áõà©Û ÍÛ¾Û›ÛÈÛÛé. 
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 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà Š¸ÛÁõ¬Ûà ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ¶Ûà ¾Ûþùþù¬Ûà ¾ÛÛéÍÛ¾Ûà ÈÛµÛ–Û¤øÛé ÉÛÛéµÛÛé : 6 

ÈÛÌÛÙ Q1 Q2 Q3 Q4 

2001 46 44 48 42 
2002 48 58 62 52 
2003 52 66 60 62 
2004 66 84 78 72 

…¬ÛÈÛÛ 

  ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà Š¸ÛÁõ¬Ûà ¾ÛÛéÍÛ¾Ûà ÈÛµÛ–Û¤ø ¾ÛéÇÈÛÛé : 
 ÈÛÍ©Ûä¶ÛÛ ½ÛÛÈÛ 

ÈÛÌÛÙ Š¶ÛÛÇÛé ˜ÛÛé¾ÛÛÍÛä× ÜÉÛýÛÛÇÛé 
2005 120 140 145 
2006 145 160 165 
2007 160 168 172 
2008 170 174 176 

 (c) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ÍÛäÁéõ”ÛÛ¶Ûä× …¶ÈÛÛýÛÛé›÷¶Û ïõÁõÛé …¶Ûé ©Ûé ¸ÛÁõ¬Ûà ÈÛÌÛÙ 2005¶ÛÛ ÈÛé˜ÛÛ¨Û¶Ûä× 
…¶Ûä¾ÛÛ¶Û ïõÁõÛé :  4 

ÈÛÌÛÙ : 2000 2001 2002 2003 2004

ÈÛé̃ ÛÛ¨Û : 12 15 25 22 26 

…¬ÛÈÛÛ 
  …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà ¾ÛÛ¤éø Ü³ù–ÛÛ©Ûà ¸ÛÁõÈÛÅÛýÛ¶Ûä× …¶ÈÛÛýÛÛé›÷¶Û ïõÁõÈÛÛ¶Ûà Áõà©Û ÍÛ¾Û›ÛÈÛÛé. 

 

3. (a) ÍÛæ˜Ûïõ…Û×ïõ …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ Š¸ÛýÛÛé•ÛÛé ›÷¨ÛÛÈÛÛé. 4 
…¬ÛÈÛÛ 

  ÍÛæ˜Ûïõ…Û×ïõ¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé …¶Ûé ©Ûé¶ÛÛ× ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé. 

 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà Š¸ÛÁõ¬Ûà ÅÛÛÍ¸ÛéýÛÁõ, ¸ÛÛÉÛé …¶Ûé ÜºõÉÛÁõ¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ ÉÛÛéµÛÛé : 6 
ÈÛÍ©Ûä 1992 1985 

 Ýïõ¾Û©Û ïäõÅÛ ”Û˜ÛÙ Ýïõ¾Û©Û ïäõÅÛ ”Û˜ÛÙ 
A 5 50 8 160 
B 20 60 22 110 
C 10 80 15 150 
D 25 500 50 1500 
E 200 1000 300 1800 

…¬ÛÈÛÛ 
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  ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¦øÛéÜ¼ÛÙÉÛ-¼ÛÛŠÅÛà …¶Ûé ¾ÛÛÉÛÙÅÛ-…é›÷ÈÛ¬ÛÙ¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ ÉÛÛéµÛÛé : 

ÈÛÍ©Ûä …éïõ¾Û 2010 2011 

  ›÷¬¬ÛÛé ½ÛÛÈÛ ›÷¬¬ÛÛé ½ÛÛÈÛ 

A 20 Üïõ•ÛóÛ 5 Üïõ•ÛóÛ 300 8 Üïõ•ÛóÛ 440 

B Üïõ•ÛóÛ 1200 •ÛóÛ¾Û 60 2000 •ÛóÛ¾Û 75 

C Üïõ•ÛóÛ 10 Üïõ•ÛóÛ 6 12 Üïõ•ÛóÛ 9 

D ¦ø¡ö¶Û 8 ¶Û×•Û 12 10 ¶Û×•Û 18 

 (c) ÍÛ¾ÛýÛ-ÜÈÛ¸ÛýÛÛÙÍÛ …¶Ûé ¸Ûþù-ÜÈÛ¸ÛýÛÛÙÍÛ ¸ÛÁõà“Û¨Û ÍÛ¾Û›ÛÈÛÛé. 4 
…¬ÛÈÛÛ 

  ¶Ûà˜Ûé¶ÛÛ ¸ÛÁ×õ¸ÛÜÁõ©Û …ÛµÛÛÁõ¶ÛÛ ÍÛæ˜Ûïõ…Û×ïõ¶Ûé …˜ÛÇ …ÛµÛÛÁõ¶ÛÛ ÍÛæ˜Ûïõ…Û×ïõ¾ÛÛ× ºéõÁõÈÛÛé : 

ÈÛÌÛÙ : 2001 2002 2003 2004 2005 2006 

¸ÛÁ×õ¸ÛÜÁõ©Û            
…ÛµÛÛÁõ¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ : 100 120 130 110 115 120 

 

4. (a) …×©Û:ÎÛÛÈÛ-¼ÛÜÐü:ÎÛÛÈÛ ¸Ûè¬¬ÛïõÁõ¨Û …é¤øÅÛé ÉÛä× ? ÍÛ¾Û›ÛÈÛÛé. 4 
…¬ÛÈÛÛ 

  …×©Û:ÎÛÛÈÛ-¼ÛÜÐü:ÎÛÛÈÛ ¸Û±ùÜ©Û¶Ûà µÛÛÁõ¨ÛÛ…Ûé ›÷¨ÛÛÈÛÛé. 

 (b) ¶Ûà˜Ûé¶ÛÛ ©ÛÛ×ÜªÛïõ …×ïõÛé¶ÛÛ ËÛéÜ¨Ûïõ Š¸ÛÁõ¬Ûà Š²Ûé•ÛÛé A …¶Ûé B ¶Ûä× ïäõÅÛ Š©¸ÛÛþù¶Û ¾ÛéÇÈÛÛé. ™öéÈÛ¤ø¶Ûà 
¾ÛÛ×•Û …¶Ûä’õ¾Ûé 100 …¶Ûé 200 ™öé : 6 

  A B  

A  0.2 0.3  

B  0.4 0.1  
…¬ÛÈÛÛ 

  ¶Ûà˜Ûé¶ÛÛ …×©Û:ÎÛÛÈÛ-¼ÛÜÐü:ÎÛÛÈÛ ïõÛéÌ¤øïõ Š¸ÛÁõ¬Ûà ©ÛÛ×ÜªÛïõ …×ïõÛé¶ÛÛé ËÛéÜ¨Ûïõ ¾ÛéÇÈÛÛé : 

…×©Û:ÎÛÛÈÛ

¼ÛÜÐü:ÎÛÛÈÛ 

Š²Ûé•Û 

 A B C 

™öéÈÛ¤ø¶Ûà 
¾ÛÛ×•Û 

ïäõÅÛ 
Š©¸ÛÛþù¶Û 

A 40 60 80 120 300 

B 35 45 50 70 200 

C 60 40 50 100 250 

 (c) …×©Û:ÎÛÛÈÛ-¼ÛÜÐü:ÎÛÛÈÛ ¸Û±ùÜ©Û¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé. 4 
…¬ÛÈÛÛ 

  …×©Û:ÎÛÛÈÛ-¼ÛÜÐü:ÎÛÛÈÛ ¸Ûè¬¬ÛïõÁõ¨Û¶Ûä× •ÛÛÜ¨ÛÜ©Ûïõ ÍÈÛÄõ¸Û ÍÛ¾Û›ÛÈÛÛé. 
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5. ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé :  14 

 (1) ÍÛÛ¾ÛÜýÛïõ ËÛé¨Ûà yt ¶Ûä× ýÛÛé•Û¶ÛàýÛ ¾ÛÛé¦éøÅÛ ÅÛ”ÛÛé. 

 (2) ˜ÛÛÁõ ¾ÛÛéÍÛ¾Û I, II, III …¶Ûé IV ¶Ûà ¾ÛÛéÍÛ¾Ûà ÍÛÁéõÁõÛÉÛ …¶Ûä’õ¾Ûé 65.75, 58.25, 56.50 …¶Ûé 59.50 
™öé. þùÁéõïõ ¾ÛÛéÍÛ¾Û ¾ÛÛ¤éø ¾ÛÛéÍÛ¾Ûà ÍÛæ˜Ûïõ…Û×ïõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 

 (3) œ÷ÈÛ¶ÛÜ¶ÛÈÛÛÙÐü ÍÛæ˜Ûïõ…Û×ïõ¶Ûà Áõ˜Û¶ÛÛ¾ÛÛ× …•Û©ýÛ¶ÛÛ× ¸ÛþùÛé ›÷¨ÛÛÈÛÛé. 

 (4) ÅÛÛÍ¸ÛéýÛÁõ¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ ÜºõÉÛÁõ¶ÛÛ ÍÛæ˜Ûïõ…Û×ïõ¬Ûà 
4
5  •Û¨ÛÛé ™öé. ›Ûé ÜºõÉÛÁõ¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ 120 ÐüÛéýÛ ©ÛÛé 

¸ÛÛÉÛé¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ ÉÛÛéµÛÛé. 

 (5) ¶Ûà˜Ûé¶ÛÛ Ýïõ¾Û©Û-Ü¶ÛµÛÛÙÁõ¨Û ¾ÛÛé¦éøÅÛ¶ÛÛé ŠïéõÅÛ ¾ÛéÇÈÛÛé : 

   D = 55 – 2P [¾ÛÛ×•Û¶Ûä× ÜÈÛµÛéýÛ] 

   S = 20 + 1.5 P [¸ÛäÁõÈÛ¥øÛ¶Ûä× ÜÈÛµÛéýÛ] 

   D = S [ÍÛ¾Û©ÛäÅÛÛ ÉÛÁõ©Û] 

 (6) …ÛÜ¬ÛÙïõ ¾ÛÛé¦éøÅÛ¶ÛÛ× –Û¤øïõÛé ›÷¨ÛÛÈÛÛé. 

 (7) ÍÛæ̃ Ûïõ…Û×ïõ …é¤øÅÛé ÉÛä× ? 
________ 
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Instruction :  (1) Figures to the right indicate full marks. 

   (2) Use of simple calculator is permissible. 

 

1. (a) What is the importance of economic models ? How are they formed ? 4 

OR 

  Explain the fitting of Pareto’s curve. 

 (b) Solve the following income-determination model : 6 

    Y = C + I + G [Equilibrium condition] 

    C = 50 + 0.5y [Consumption cost function] 

    I = 10 + 0.2y [Investment function] 

    G = 30 [Government expenditure] 

OR 

  Identify the demand and supply equations from the following equations. Write a 
price-determination model using them and obtain its solution. 

    Q + 4P – 30 = 0   and   Q – 3P + 12 = 0 

 (c) Write a short note on Lorentz curve. 4 

OR 

  Explain the price-determination model and solve it. 

 

2. (a) What is time series ? Explain its usefulness. 4 

OR 

  Explain the graphical method of determining trend. 
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 (b) For the following data find seasonal variations by the method of moving average : 6 
Year Q1 Q2 Q3 Q4 

2001 46 44 48 42 
2002 48 58 62 52 
2003 52 66 60 62 
2004 66 84 78 72 

OR 
  Find seasonal variations : 

 Price of a commodity 
Year Summer Monsoon Winter 
2005 120 140 145 
2006 145 160 165 
2007 160 168 172 
2008 170 174 176 

 (c) Fit a straight line to the following data and estimate the sales for the year 2005 : 4 

Year : 2000 2001 2002 2003 2004

Sales : 12 15 25 22 26 

OR 
  Explain the method of fitting a second degree parabola to a given data. 

 

3. (a) What is Index Number ? Give its uses. 4 

OR 
  What is meant by Index Number ? Give its characteristics. 

 (b) Find Laspeyre’s, Paasche’s and Fisher’s Index Numbers from the data given           
below :   6 
Commodity 1992 1985 

 Price Expenditures Price Expenditures 
A 5 50 8 160 
B 20 60 22 110 
C 10 80 15 150 
D 25 500 50 1500 
E 200 1000 300 1800 

OR 
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  Find Dorbish Bowley’s and Marshall Edgeworth’s Index Numbers from the data 
given below : 

Commodity Unit 2010 2011 

  Quantity Price Quantity Price 

A 20 kg 5 kg 300 8 kg 440 

B kg 1200 gms 60 2000 gms 75 

C kg 10 kg 6 12 kg 9 

D dozen 8 pieces 12 10 pieces 18 

 (c) Explain the Time Reversal Test and Factor Reversal Test. 4 

OR 
  Convert the following chain base index numbers into fixed base index numbers : 

Year : 2001 2002 2003 2004 2005 2006 

Chain base  
index number : 

100 120 130 110 115 120 

 

4. (a) Explain : Input-Output analysis. 4 

OR 
  State the  assumptions of input-output analysis. 

 (b) Find the total production of industries A and B using the following technology 
matrix. The final demands are 100 and 200 respectively. 6 

  A B  

A  0.2 0.3  

B  0.4 0.1  

OR 

  From the following input-output table, obtain technology matrix : 

Input 

Output 

Industry 

 A B C 

Final 
demand 

Total 
output 

A 40 60 80 120 300 

B 35 45 50 70 200 

C 60 40 50 100 250 

 (c) State the limitations of Input-Output analysis. 4 

OR 
  Explain the mathematical form of Input-Output analysis. 
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5. Answer the following questions : 14 
 (1) Write the additive model of a time series yt. 

 (2) The seasonal averages of four seasons I, II, III and IV are respectively 65.75, 
58.25, 56.50 and 59.50. Calculate seasonal index for each of the season. 

 (3) State main steps involved in the construction of the cost of living index number. 

 (4) Laspeyre’s index number is 
4
5  times Fisher’s index number. If Fisher’s index 

number is 120, find Paasche’s index number. 

 (5) Solve the following price-determination model : 

   D = 55 – 2P [Demand function] 

   S = 20 + 1.5 P [Supply function] 

   D = S [Equilibrium condition] 

 (6) State the components of economic models. 

 (7) What is Index Number ? 
________ 
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